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-------------------------------------------------------------------------------------------------- T1
1.  Directions: Look at the pictures. Listen to the story. Cross out the ones you are taking from. Write how many there are now.
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7 bears				4 crawl away			____ bears now

2.  Directions: Listen to the story. Draw the pictures. Cross out the ones you are taking from. Write how many there are now.




9 balls				6 roll away				____ balls now

3.  Mark the correct number sentence for the story.
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--------------------------------------------------------------------------------------------------- T2
Problems 4 and 5. Solve.[image: ]
Problems 6 and 7. Solve using a model drawing.
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8. Use             to solve. Draw to show your work. Write the number sentence and how many.
There are 6 dogs. 5 are spotted. The rest are black. How many are black?



_____ are black                  ______             ______ = ______

---------------------------------------------------------------------------------------------T3
9. [image: ]


10. [image: ]


11. Solve.
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13.
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---------------------------------------------------------------------------------------------------------T5
Find the difference.
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14.
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15.  Write the number that completes the equation.
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16.  Draw a picture. Write the equation. Solve the problem.
7  flowers are in the yard. 7 are yellow the rest are blue. How many flowers are blue?


[image: ]                      ______ blue flowers
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There are 8 books.

There are 6 pencils.

How many fewer pencils are there
than books? Draw lines to match.
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Write the number sentence
and how many. There are
5 shirts. 4 shirts are small.
The rest are big. How
many shirts are big?
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Use [F!. Color and draw to show
how to take apart 5. Complete the
subtraction sentence.
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Use [SB. Color and draw to show how to take
apart 7. Complete the subtraction sentence.
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What is the difference?
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Sue has 10 grapes.
She eats 3 of the grapes.
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How many grapes does Sue have left?
O 10+ 3 = I3 grapes
O Il —3=8grapes

O 10— 3 =7grapes
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Which number sentence
solves the problem?

There are 8 rings in a box.

5 rings are pink. The rest
are gold. How many rings
are gold?

02+3=5
o 8+2=10
08—-2=6

08-5=38

Which number sentence
solves the problem?

There are 7 cows. 3 cows
are brown. The rest are
black. How many cows are
black?

o 7—-8=4
o 7+3=10
o 3+3=6
o0 10-7=38
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There were some dogs.
4 dogs ran away. Then
there were 2 dogs. How
many dogs were there
before?

There are 5 flowers. 2 are
yellow. The rest are red.
How many flowers are
red?
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